1.

ok 20l AABC o] 4] 9] ZHo] 717}
D, E. F olth. aABC ] Yol7} 128cm?
ul, ADEF ©] ¥o]?

@ 20 Cm2 @ 24 Cm2 @32 Cm2 B L it
@ 36cm? ® 42cm?

~&B

AABC ¢} ADEF 9] &&H
ojtt.
.. ADEF = le x 128 = 32(cm?)

17} 21 0]B& Yolo] H]: 4

1




[ [l BofZ 5 AR vt A g2 227

250A’B’C'D’ = 9oABCD & =5 % = A mA’B’C’D’
T} uABCDﬂ k. F =g ggule [ Jolx, BC =
15cm € o], B'C’ 9 710] I:]cm, A'D) = 12cm 4 o,
AD 9 Zol=[  JemE wEFh

@ 1:4,8, 10 @ 3:5, 8, 20 @)3:5. 9, 20

@ 5:3,9, 10 ® 5:3,9, 20

B

OA’B’C’D’ : DABCD = 9 : 25 0| B2 T 3 0] -8 H|

rlr
9




o2 24 WEsHE A4 ABC oA x g kot

® 3473 ABC ©| 3% A 7} BC 99 F E o]
oEs Hid,
32

© ﬁ:47@:5,ﬁ:€ o|t}.

n

vV Vv
0
I
o

B

(DEF = /DAF = 60°

/BDE + /BED = 120°

/BED + /FEC = 120°

/(BDE = /FEC ---Q

/B=/,C ---©

@, ©°l 93] ABDE ¢ ACEF(AA B2)

BD:CE=BE:CF 9|22 3 :x=4:5
=8




4. o2 183 2ol AABC °|A4 DE /BC € Wi, BD 2] Zo]&?




thS o4 AB = 9cm , DC = 15cm , AB//EH//DC ¥ o, EH

o] dol&?

D
\
\
A \
, 1‘50m
i
9cn )
\ /
B H C
@ %cm @ 4§5cm ® 8cm
@ ?cm ® 9cm

DC  9x15 45

X (cm)
+DC 9415 8

olct




